| Efficiency vs Dxy |

>0.05
X

o : : :
B.045 it
< oo
20,04
o oo
@035— """"
0,08
0,025 bt
002
0.015—----3------@ -------

eff

0.0

0,005 -++hvieveensi

...................................................

.9 J-.Q;||||.||||.||||:||||:|| ! |||!||||:||||:||||:||||
T SRR R SRS | || M SO O SRS SO
r Mk T 1 S

] SRRSO S IRRRRRS JO0 RO SRS S SO o

) -

0.8

| Efficiency vs Dz |

B T50-15-10 =5 0 5 10 15 20 25

TP dxy (cm)

—=— DQM_TT__ORIGINAL
—e— DQM_TT__MODIFIED_layerProcv2
—— DQM_TT__MODIFIED_layerProcv2_OctoberVersion

N 0.021
o C

D.018F o f
Py - :
33.016_— -------- -----
g : |
5)014__ ------- 5 -----
© C :
0.012f Jooert
0.02 .
0.008F--- .....

0.006F
0.0041
0.002F

...........................................

1

Ratio
=
H

2030
TP dz (cm)




	Contents
	Page 1


